

A NEW PROBLEM FROM ZERO-SUM THEORY

WEIDONG GAO*, XIAO JIANG, WENZHONG LEI, CONG LIN, AND WENKAI YANG

ABSTRACT. Let p be a prime number. We denote by $\mathfrak{s}_p^*$ the smallest integer l such that, out of any given l integers coprime with p , one can select p integers satisfying that the sum of the p integers is a multiple of p , but not a multiple of p^2 . It is conjectured that $\mathfrak{s}_p^* = 2p + 1$ for any prime number $p \geq 3$. In this paper, we give a non-trivial upper bound of $\mathfrak{s}_p^*$, which states that $\mathfrak{s}_p^* \leq 3p - 2$.

1. INTRODUCTION

Let p be a prime. This paper deals with the following combinatorics constant related to p , which arises from the study of certain problems related to the cross number in the zero-sum theory (see [5, Section 3]).

Definition 1.1. We denote by $\mathfrak{s}_p^*$ the smallest integer l such that, out of any given l integers coprime with p , one can select p integers satisfying that the sum of the p integers is a multiple of p , but not a multiple of p^2 .

Throughout this paper, let G be a finite additive abelian group with identity element 0. We denote by C_n a cyclic group of order n . By the structure of finite abelian groups, every non-trivial finite abelian group G can be decomposed as a direct sum of cyclic groups

$$C_{n_1} \oplus \cdots \oplus C_{n_r},$$

where the integers $n_1, \dots, n_r$ satisfy $1 < n_1 \mid \cdots \mid n_r$. Here r and n_r are called the *rank* and the *exponent* of G , respectively. The exponent of G is denoted by $\exp(G)$, and the order of an element $g \in G$ is written as $\text{ord}(g)$. Let $S = g_1 \cdot \dots \cdot g_l$ be a sequence over G . By $\sigma(S)$ we denote the sum $\sum_{i=1}^l g_i \in G$, and by $\mathbf{k}(S)$ we denote the cross number $\sum_{i=1}^l \text{ord}(g_i)^{-1} \in \mathbb{Q}_{\geq 0}$.

Let $G = C_{p^m}$ for some prime p and integer $m \geq 2$, and let $H = pG = C_{p^{m-1}}$ be the subgroup of G . Then, $\mathfrak{s}_p^*$ is the smallest integer l such that, every sequence S over $G \setminus H$ with $|S| = l$ has a subsequence T with $\sigma(T) \in H$, $|T| = p$ and $\mathbf{k}(T) = \mathbf{k}(\sigma(T))$.

Let $\mathfrak{s}(G)$ be the smallest integer l such that every sequence of length l has a zero-sum subsequence of length $\exp(G)$. The Erdős-Ginzburg-Ziv Theorem (see [4]) states that $\mathfrak{s}(C_n) = 2n - 1$ and the invariant $\mathfrak{s}(G)$ is so called the Erdős-Ginzburg-Ziv constant. It is not easy to determine the exact values of $\mathfrak{s}(G)$ for non-cyclic groups G . The result that

2020 *Mathematics Subject Classification.* 11B30, 11B75, 20K01.

Key words and phrases. Abelian group, Zero-sum subsequence, Cross number.

*Corresponding author: Weidong Gao, Email: wdgao@nankai.edu.cn.

$s(C_p \oplus C_p) = 4p - 3$ was conjectured by Kemnitz in 1983, and was confirmed by Christian Reiher in 2004 (see [8]).

From $s(C_p \oplus C_p) = 4p - 3$, one can deduce that $s_p^* \leq 4p - 3$ for any prime p . Let $4p - 3$ integers coprime to p be given. Without loss of generality, write them as $a_1 + b_1p, \dots, a_{4p-3} + b_{4p-3}p$, where $a_i \in [1, p - 1]$ for each $i \in [1, 4p - 3]$. By Reiher's result, there exists a subset $I \subseteq [1, 4p - 3]$ with $|I| = p$ such that p divides both $\sum_{i \in I} a_i$ and $\sum_{i \in I} b_i$. Since $p \leq \sum_{i \in I} a_i \leq p(p - 1) < p^2$, it's impossible that $p^2 \mid \sum_{i \in I} (a_i + b_i p)$. Therefore, these p integers $a_i + b_i p$ with $i \in I$ have the desired properties.

Consider the $2p$ integers with odd prime p , $p - 1$ terms of which equal to 1, $p - 1$ terms equal to -1 , as well as the terms $1 - p$ and $p - 1$. Then the sum of p terms from them is a multiple of p only if the p terms must be $1^{p-1}(1 - p)$, or $(-1)^{p-1}(p - 1)$. And whichever, the sum of the p terms is divisible by p^2 . From this we obtain the lower bound $s_p^* \geq 2p + 1$. Furthermore, the following conjecture was first posed in [5].

Conjecture 1.2. [5, Conjecture 3.2] For any odd prime number p , $s_p^* = 2p + 1$.

Clearly, $s_2^* = 3$ and the proof of it is very easy. Conjecture 1.2 has been verified for $p = 3, 5$ and 7 . But to verify Conjecture 1.2 for $p = 11$ is beyond the power of our computer. In this paper, we give a non-trivial upper bound of s_p^* as follows.

Theorem 1.3. For any prime number p , $s_p^* \leq 3p - 2$.

Its proof will be given in Section 3. The final section is devoted to some remarks.

2. NOTATION AND PRELIMINARIES

We denote by $\mathbb{N}$ the set of positive integers, by $\mathbb{N}_0$ the set $\mathbb{N} \cup \{0\}$, by $\mathbb{Z}$ the set of integers, and by $\mathbb{Q}$ the set of rational numbers. For convenience, we set $[a, b] = \{x \in \mathbb{Z} \mid a \leq x \leq b\}$ for any two real numbers a, b in this paper. For a real number x , let $\lfloor x \rfloor$ be the largest integer no greater than x .

We denote by $\mathcal{F}(G)$ the free (abelian, multiplicative) monoid with basis G . The elements of $\mathcal{F}(G)$ are called *sequences* over G . We can write a sequence $S \in \mathcal{F}(G)$ in the form

$$S = \prod_{g \in G} g^{\mathbf{v}_g(S)}$$

with $\mathbf{v}_g(S) \in \mathbb{N}_0$ for all $g \in G$, where $\mathbf{v}_g(S)$ is called the *multiplicity* of g in S . We say that S contains the element g of G if $\mathbf{v}_g(S) > 0$. A sequence S' is called a *subsequence* of S , denoted by $S' \mid S$, if $\mathbf{v}_g(S') \leq \mathbf{v}_g(S)$ for all $g \in G$, and SS'^{-1} denotes the subsequence obtained from S by deleting S' . The unit element $\emptyset \in \mathcal{F}(G)$ is called the *empty* sequence.

For a sequence

$$S = g_1 \cdots g_l = \prod_{g \in G} g^{\mathbf{v}_g(S)} \in \mathcal{F}(G),$$

we define the following notation:

- $|S| = l = \sum_{g \in G} \mathbf{v}_g(S) \in \mathbb{N}_0$ the length of S ,
- $\sigma(S) = \sum_{i=1}^l g_i = \sum_{g \in G} \mathbf{v}_g(S)g \in G$ the sum of S ,
- $\text{supp}(S) = \{g \in G \mid \mathbf{v}_g(S) > 0\} \subseteq G$ the support of S ,
- S a squarefree sequence if $\mathbf{v}_g(S) \leq 1$ for all $g \in G_0$.
- S a zero-sum sequence if $\sigma(S) = 0 \in G$,
- $b + S = (b + g_1) \cdots (b + g_l)$, where $b \in G$,
- $\Sigma_r(S) = \{\sigma(T) : T \mid S, |T| = r\}$, where $r \in [1, l]$.

Every map of abelian groups $\varphi : G \longrightarrow H$ extends to a homomorphism $\varphi : \mathcal{F}(G) \longrightarrow \mathcal{F}(H)$, where $\varphi(S) = \varphi(g_1) \cdots \varphi(g_l)$. If φ is a homomorphism, then $\varphi(S)$ is a zero-sum sequence over H if and only if $\sigma(S) \in \ker(\varphi)$. Obviously, $\varphi(\sigma(S)) = \sigma(\varphi(S))$.

The following well-known result, called Cauchy-Davenport Theorem, plays an important role in the development of zero-sum theory.

Lemma 2.1. (*Cauchy-Davenport*) [2] *Let p be a prime number, and let $A_1, A_2, \dots, A_k$ be nonempty subsets of C_p . Then*

$$|A_1 + A_2 + \cdots + A_k| \geq \min\{p, |A_1| + |A_2| + \cdots + |A_k| - k + 1\}.$$

A direct application of Lemma 2.1 in the zero-sum theory is as below.

Lemma 2.2. *Let $S \in \mathcal{F}(C_p)$ and $k \in [1, p]$. If $|S| \geq p + k - 1$ and $\mathbf{h}(S) \leq k$, then $\Sigma_k(S) = C_p$.*

Proof. Without loss of generality, let $|S| = p + k - 1$ and

$$S = a_1 \cdots a_{p+k-1}.$$

Moreover, we can require that, if $a_i = a_j$ with $i \leq j$, then $a_l = a_i$ for every $l \in [i, j]$. It follows from $\mathbf{h}(S) \leq k$ that $a_i \neq a_{i+k}$ for every $i \in [1, p-1]$.

For every $j \in [1, k]$, let

$$A_j = \prod_{l=0}^{\lfloor \frac{p+k-1-j}{k} \rfloor} a_{j+lk}.$$

Then $S = \prod_{j=1}^k A_j$ and every A_j is a squarefree subsequence. Regarding every A_j as a set and applying Lemma 2.1, we obtain that

$$\left| \sum_{j=1}^k A_j \right| \geq \min\{p, \sum_{j=1}^k |A_j| - k + 1\} = p.$$

Noticing that $S \in \mathcal{F}(C_p)$, we have

$$C_p = \sum_{j=1}^k A_j \subseteq \Sigma_k(S) \subseteq C_p.$$

Lemma 2.2 is proved. $\square$

There are many generalizations of Lemma 2.1. One of them is the following lemma got by Chowla in 1935 and recently as an exercise in [6, Exercise 6.6] by Gryniewicz.

is an immediate consequence of Kneser's Theorem. For more generalizations, we refer to [3].

Lemma 2.3. [1] *Let G be an abelian group and $A, B \subseteq G$ be nonempty sets with $A + B \neq G$. If there is some $b \in B$ such that $\text{ord}(g - b) = |G|$ for all $g \in B \setminus \{b\}$, then*

$$|A + B| \geq |A| + |B| - 1.$$

3. A NON-TRIVIAL UPPER BOUND OF $\mathfrak{s}_p^*$

In this section, we focus on the group $C_{p^2} \cong (\mathbb{Z}/p^2\mathbb{Z}, +)$ and give a proof of Theorem 1.3. Throughout this section, let $C_{p^2}^\times = C_{p^2} \setminus pC_{p^2}$ be the set of all generators in the cyclic group C_{p^2} . And the sequence S will always be over $C_{p^2}^\times$.

First, we introduce a lemma from [5] to reduce the situation that we need to deal with.

Lemma 3.1. [5, Lemma 3.4] *Let p be an odd prime number and let $S \in \mathcal{F}(C_{p^2}^\times)$ be a sequence of length $|S| = 2p + 1$. If there are two elements a, b in S satisfying $a - b \in pC_{p^2} \setminus \{0\}$, then there is a subsequence T of S such that $|T| = p$ and $\sigma(T) \in pC_{p^2} \setminus \{0\}$.*

Next, we give two corollaries of Lemma 2.3 as follows, which are necessary in our proof of Theorem 1.3. The first one follows by applying Lemma 2.3 inductively.

Lemma 3.2. *Let $B_1, \dots, B_k$ with $k \geq 2$ be nonempty subsets of an abelian group C_{p^2} . For every $i \in [2, k]$, suppose that there exists some $b_i \in B_i$ such that $\text{ord}(g - b_i) = p^2$ for all $g \in B_i \setminus \{b_i\}$. Then*

$$\left| \sum_{i=1}^k B_i \right| \geq \min \left\{ p^2, \sum_{i=1}^k |B_i| - k + 1 \right\}.$$

Lemma 3.3. *Let $S \in \mathcal{F}(C_{p^2}^\times)$ and $k \in [1, p - 1]$. Then at least one of the following statements holds.*

- (1) There are two elements a, b in S such that $a - b \in pC_{p^2} \setminus \{0\}$,
- (2) If $|S| \geq p + k$ and $\mathbf{h}(S) \leq k$, then there are two subsequences T_1, T_2 of S such that $|T_1| = |T_2| = k$ and $\sigma(T_1) - \sigma(T_2) \in pC_{p^2} \setminus \{0\}$.

Proof. Assume that (1) does not hold. That is, if a, b are different elements in S , then we have $a - b \in C_{p^2}^\times$, or equivalently, $\text{ord}(a - b) = p^2$. We are going to prove that the statement (2) must hold.

Without loss of generality, let $|S| = p + k$ and

$$S = a_1 \cdots a_{p+k}.$$

Moreover, we can require that, if $a_i = a_j$ with $i \leq j$, then $a_l = a_i$ for every $l \in [i, j]$. It follows from $\mathbf{h}(S) \leq k$ that $a_i \neq a_{i+k}$ for every $i \in [1, p]$.

For every $j \in [1, k]$, set

$$B_j = \prod_{l=0}^{\lfloor \frac{p+k-j}{k} \rfloor} a_{j+lk}.$$

Then $S = \prod_{j=1}^k B_j$ and every B_j is a squarefree subsequence of length $|B_j| \geq 2$. By assumption, for every $j \in [1, k]$, there is some $b_j \in B_j$ such that $\text{ord}(g - b_j) = p^2$ for all $g \in B_j \setminus \{b_j\}$. Regarding every B_j as a set and applying Lemma 3.2, we obtain that

$$\left| \sum_{j=1}^k B_j \right| \geq \min \left\{ p^2, \sum_{j=1}^k |B_j| - k + 1 \right\} = p + 1.$$

Since $\sum_{j=1}^k B_j \subseteq C_{p^2}$, there are two different sums $u_1 + \dots + u_k$ and $v_1 + \dots + v_k \in \sum_{j=1}^k B_j$ such that

$$(u_1 + \dots + u_k) - (v_1 + \dots + v_k) \in pC_{p^2} \setminus \{0\}.$$

Let $T_1 = \prod_{i=1}^k u_i$ and $T_2 = \prod_{i=1}^k v_i$. Then T_1, T_2 are two subsequences of S such that $|T_1| = |T_2| = k$ and $\sigma(T_1) - \sigma(T_2) \in pC_{p^2} \setminus \{0\}$.

Therefore, Lemma 3.3 is proved. $\square$

In the rest of this section, let $\varphi : C_{p^2} \longrightarrow C_{p^2}/pC_{p^2}$ be the classical homomorphism. Then for any sequence $S \in \mathcal{F}(C_{p^2})$, we have $\varphi(S) \in \mathcal{F}(C_{p^2}/pC_{p^2}) \cong \mathcal{F}(C_p)$. Now, we are ready to give a proof of Theorem 1.3.

Proof of Theorem 1.3. By Lemma 3.1, we only need to deal with the situation that

$$S = g_1^{h_1} \dots g_s^{h_s},$$

where $1 \leq h_s \leq h_{s-1} \leq \dots \leq h_1 \leq p-1$, $4 \leq s \leq p-1$, $|S| = \sum_{i=1}^s h_i = 3p-2$ and $pg_i \neq pg_j$ for $i \neq j \in [1, s]$. We will prove that S has two subsequences of length p satisfying that their respective sums are both in pC_{p^2} but different in C_{p^2} .

For $j \in [1, h_1]$, let

$$A_j = \prod_{\substack{i \in [1, s] \\ h_i \geq j}} g_i.$$

Then $S = \prod_{j=1}^{h_1} A_j$ and every A_j is a squarefree subsequence. Furthermore,

$$\emptyset \neq A_{h_1} \subseteq A_{h_1-1} \subseteq \dots \subseteq A_2 \subseteq A_1 = \text{supp}(S)$$

as sets and $|A_{h_i}| \geq i$ for $i \in [1, s]$. Hence $2 \leq |A_{h_2}| \leq \dots \leq |A_1| \leq p-1$.

Note that

$$\sum_{j=1}^1 (|A_j| - 1) + 1 < \dots < \sum_{j=1}^{h_2} (|A_j| - 1) + 1,$$

where $|A_1| = s \leq p-1$ and

$$\sum_{j=1}^{h_2} (|A_j| - 1) + 1 = \sum_{i=2}^s h_i + 1 = |S| - h_1 + 1 \geq 2p$$

since $h_1 \leq p-1$, $|S| = 3p-2$ and $\prod_{j=1}^{h_2} (g_1^{-1} A_j) = g_2^{h_2} \cdots g_s^{h_s}$. There exists an integer $k \in [2, h_2]$ such that

$$\sum_{j=1}^{k-1} (|A_j| - 1) + 1 < p+1 \leq \sum_{j=1}^k (|A_j| - 1) + 1.$$

Clearly, $k < h_1 < p-1$ since $\sum_{i=1}^{h_1-1} (|A_i| - 1) + 1 \geq |S| - |A_{h_1}| - h_1 + 2 \geq p+2$.

Next, we divide the proof into the following two cases.

CASE 1. $p+1 = \sum_{j=1}^k (|A_j| - 1) + 1$.

Let $W = \prod_{j=1}^k A_j$. Then $|W| = \sum_{j=1}^k |A_j| = p+k > 2k$ and $h(W) = k$. By Lemma 3.3, there exist two subsequences W_1, W_2 of W such that $|W_1| = |W_2| = k$ and

$$\sigma(W_1) - \sigma(W_2) \in pC_{p^2} \setminus \{0\}. \quad (3.1)$$

Set $W_3 = \prod_{g \in C_{p^2}} g^{\max\{v_g(W_1), v_g(W_2)\}}$. Then $W_3 \neq W$ since $|W| > 2k$, so there exists an element x in $W_3^{-1}W$.

Consider the subsequence

$$X = x \cdot \prod_{j=k+1}^{h_1} A_j$$

of S . We have $|\varphi(X)| = |X| = |S| - |W| + 1 = 2p - k - 1$ and $h(\varphi(X)) = h(X) \leq h_1 - k + 1 \leq p - k$. By Lemma 2.2, $\sum_{p-k}(\varphi(X)) = C_{p^2}/pC_{p^2}$ and so there is $X' \mid X$ such that $|X'| = p - k$ and

$$\sigma(\varphi(X')) = -\sigma(\varphi(W_1)) \in C_{p^2}/pC_{p^2},$$

Hence $\sigma(\varphi(X'W_1)) = 0 + pC_{p^2}$ in C_{p^2}/pC_{p^2} , or equivalently,

$$\sigma(X'W_1) \in \ker(\varphi) = pC_{p^2}. \quad (3.2)$$

Now, we get two subsequences $X'W_1, X'W_2$ of S satisfying $|X'W_1| = p = |X'W_2|$. It follows from (3.1) and (3.2) that

$$\sigma(X'W_2) = \sigma(X'W_1) - \sigma(W_1) + \sigma(W_2) \in pC_{p^2}$$

and

$$\sigma(X'W_1) - \sigma(X'W_2) = \sigma(W_1) - \sigma(W_2) \neq 0.$$

So $X'W_1, X'W_2$ are the desired sequences and Theorem 1.3 is proved in this case.

CASE 2. $\sum_{j=1}^{k-1} (|A_j| - 1) + 1 < p+1 < \sum_{j=1}^k (|A_j| - 1) + 1$.

Let $m = \sum_{j=1}^k (|A_j| - 1) + 1 - (p+1) \geq 1$. From the hypothesis of Case 2, we have $|A_k| - 1 \geq m+1$, so $s - m = |A_1| - m \geq |A_k| - m \geq 2$. Set

$$B = A_1 \cdot \prod_{i=s-m+1}^s g_i^{-1} = \prod_{i=1}^{s-m} g_i.$$

Then $|B| = s - m$ and $g_1 g_2 \mid B$.

Let $U = B \prod_{j=2}^k A_j$. By definition of m , we have $|U| = \sum_{j=1}^k |A_j| - m = p + k$ and $h(U) = k$. By Lemma 3.3, there exist two subsequences U_1, U_2 of U such that

$|U_1| = |U_2| = k$ and

$$\sigma(U_1) - \sigma(U_2) \in pC_{p^2} \setminus \{0\}. \quad (3.3)$$

Recalling that $g_1 - g_2 \notin pC_{p^2}$ and $1 < k \leq h_2 \leq p - 1$, we have $\sigma(g_1^k) - \sigma(g_2^k) = k(g_1 - g_2) \notin pC_{p^2}$ and so $\{U_1, U_2\} \neq \{g_1^k, g_2^k\}$. Set $U_3 = \prod_{g \in C_{p^2}} g^{\max\{v_g(U_1), v_g(U_2)\}}$. Then $U_3 \neq g_1^k g_2^k | U$. Thus there is an element y in the sequence $U_3^{-1}U$ such that $y = g_1$ or g_2 .

Consider the subsequence

$$Y = y \prod_{i=s-m+1}^s g_i \cdot \prod_{i=k+1}^{h_1} A_i$$

of S . It follows from $s - m \geq 2$ and $y \in \{g_1, g_2\}$ that the sequence $y \prod_{i=s-m+1}^s g_i$ is squarefree. Hence we have $|\varphi(Y)| = |Y| = 1 + |S| - |U| = 2p - k - 1$ and $h(\varphi(Y)) = h(Y) \leq h_1 - k + 1 \leq p - k$. By Lemma 2.2, $\sum_{p-k}(\varphi(Y)) = C_{p^2}/pC_{p^2}$ and so there is $Y' | Y$ such that $|Y'| = p - k$ and

$$\sigma(\varphi(Y')) = -\sigma(\varphi(U_1)) \in C_{p^2}/pC_{p^2},$$

or equivalently,

$$\sigma(Y'U_1) \in \ker(\varphi) = pC_{p^2}. \quad (3.4)$$

Now, we get two subsequences $Y'U_1, Y'U_2$ of S satisfying $|Y'U_1| = p = |Y'U_2|$. It follows from (3.3) and (3.4) that

$$\sigma(Y'U_2) = \sigma(Y'U_1) - \sigma(U_1) + \sigma(U_2) \in pC_{p^2}$$

and

$$\sigma(Y'U_1) - \sigma(Y'U_2) = \sigma(U_1) - \sigma(U_2) \neq 0.$$

Therefore, $Y'U_1, Y'U_2$ are the desired sequences in this case.

This completes the proof of Theorem 1.3. $\square$

4. FINAL REMARKS

(1). We point out that, through replacing [5, Lemma 3.7] by our Theorem 1.3, we can give a more brief and unified proof of [5, Theorem 1.3].

(2). The combinatorial constant s_p^* has a connection to p -adic theory. Here we introduce some notations from [7]. Given a prime p , we denote by $\mathbb{Q}_p$ the field of p -adic numbers, which can be written as

$$\mathbb{Q}_p = \left\{ \sum_{i=v}^{\infty} a_i p^i \mid v \in \mathbb{Z}, a_i \in [0, p-1] \right\}.$$

The power series $x = \sum_{i=v}^{\infty} a_i p^i$ is called the p -adic expansion (of the p -adic number x). And if v is the smallest integer i such that $a_i \neq 0$ in the p -adic expansion of x , then v is called the p -adic valuation of x . The p -adic valuation of 0 ($\in \mathbb{Q}_p$) is set as ∞ . For any

integer v , let $p^v\mathbb{Z}_p \subset \mathbb{Q}_p$ be the set of all p -adic numbers of p -adic valuation no less than v , where

$$\mathbb{Z}_p = \left\{ \sum_{i=0}^{\infty} a_i p^i \mid a_i \in [0, p-1] \right\}$$

is called the ring of p -adic integers. Then $p^v\mathbb{Z}_p \setminus p^{v+1}\mathbb{Z}_p$ is the set of all p -adic numbers of p -adic valuation v .

By the Erdős-Ginzburg-Ziv Theorem ($s(C_n) = 2n-1$), $2p-1$ is the smallest integer l such that, out of any given l p -adic numbers in $\mathbb{Z}_p$, one can always select p p -adic numbers satisfying that the sum of the p p -adic numbers belongs to $p\mathbb{Z}_p$. But the p -adic valuation of the sum can not be precisely determined.

To control the p -adic valuation of the sum, we need more than $2p-1$ p -adic numbers, and s_p^* is the smallest integer l such that, out of any given l p -adic numbers of p -adic valuation $v \neq \infty$, one can always select p p -adic numbers satisfying that the sum of the p p -adic numbers has p -adic valuation $v+1$. Therefore, Conjecture 1.2 makes sense when translated into p -adic theory.

Acknowledgements. The authors would like to thank the referee for very helpful comments and valuable suggestions. This work was supported by National Natural Science Foundation of China (Grant No. 12071344).

REFERENCES

- [1] I. Chowla, *A theorem on the addition of residue classes: Applications to the number $\Gamma(k)$ in Waring's problem*, Proc. Indian Acad. Sci., Sect. A 2 (1935), 242 – 243.
- [2] H. Davenport, *On the addition of residue classes*, J. London Math. Soc. 10 (1935), 30 – 32.
- [3] M. Devos, L. Goddyn and B. Mohar, *A generalization of Kneser's Addition Theorem*, Adv. Math. 220 (2009), 1531 – 1548.
- [4] P. Erdős, A. Ginzburg and A. Ziv, *Theorem in the additive number theory*, Bull. Res. Council Israel Sect. F 10F (1961), 41 – 43.
- [5] W. Gao, W. Hui, X. Jiang, Y. Li and X. Wang, *On zero-sum subsequences of cross number 1*, Acta Arith. 219 (2025), 347 – 363.
- [6] D. Gryniewicz, *Structural additive theory*, Dev. Math., 30, Springer, Cham, 2013.
- [7] N. Koblitz, *p -Adic numbers, p -adic analysis and zeta-functions*, GTM 58, Springer-Verlag (New York, 1984).
- [8] C. Reiher, *On Kemnitz' conjecture concerning lattice points in the plane*, Ramanujan J. 13 (2007), 333 – 337.

CENTER FOR APPLIED MATHEMATICS, TIANJIN UNIVERSITY, TIANJIN 300072, P.R. CHINA
Email address: `wdgao@nankai.edu.cn`

SCHOOL OF MATHEMATICAL SCIENCES, CHENGDU UNIVERSITY OF TECHNOLOGY, CHENGDU 610059,
P.R. CHINA
Email address: `jiangxiao2022@tju.edu.cn`

MATHEMATICAL COLLEGE, SICHUAN UNIVERSITY, CHENGDU 610064, P.R. CHINA
Email address: `lwzh1729@163.com`

CENTER FOR APPLIED MATHEMATICS, TIANJIN UNIVERSITY, TIANJIN 300072, P.R. CHINA
Email address: `lcqwelc@163.com`

CENTER FOR COMBINATORICS, LPMC, NANKAI UNIVERSITY, TIANJIN 300071, P.R. CHINA
Email address: `wkyang@nankai.edu.cn`